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QUESTION 1

At which level do you enable process runtime security?
A. Environment

B. Orchestrator

C. Domain

D. Agent

Correct Answer: B

QUESTION 2

Because a host in your environment contains social security numbers, you need to restrict access to a small high-
privilege group. You have been asked to investigate and implement the touchpoint security feature of CA Process
Automation. To help ensure a successful touchpoint security implementation, which factor do you need to consider?
A. It is an orchestrator-level property that can be enforced at the orchestrator level only.

B. The default inherited enforcement ensures non-secure processes only run if you disable touch point security.

C. Even if you enforce it, it will not function unless you also configure a CA Embedded Entitlements Manager (CA EEM)
policy.

D. For touch point security policies, best practice is to directly name the operators that act on touchpoints you want to
secure.

Correct Answer: C

QUESTION 3

Which CA Process Automation tab enables you to monitor selected tasks and system elements managed by CA
Process Automation?

A. Operations
B. Designer
C. Reports

D. Library

Correct Answer: A

QUESTION 4
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The number of loop iterations that a loop operator will run is determined by:
A. A Loop Exit expression.

B. A Repeat Count expression.

C. A CurrentLooplteration variable.

D. An OverallLoopDuration variable.

Correct Answer: B

QUESTION 5

You want to break down large processes into smaller sections to increase readability. You also want the ability to define
rules that are triggered when processing moves between these sections. Which CA Process Automation feature
provides the functionality you require?

A. Boundaries

B. Swim lanes

C. Limit dividers

D. Highway lanes

Correct Answer: B
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